0 ; 1| BT
= o) 3 2K AR R

&7555& S ) tBxEARE)
S “ Bt
& 4

i

71
/ 3
7 [ %
of AL
= | \ EREKE
Q 0.5mk#
ol
) ’ ~1.0m=kEs
9 1.0

| % ~2.0m>
\ | N - 2.0
= ) | e ~3.0m=*KH

O " 3.0
'/ ,\) @ ~5.0m=%KH
]/ - 5.0miLE
0

T sz
(]

- 1:4,000

0 30 60 90 120
B M
FREEICEDCELMBERRASE (M) R 1Hs 1139)



Ji
<} ) BKE R
&7<§> = R (@ e

0 | g %%%%%\ \ U B

i

5
|
JL15I
2 | \ SRR
Q 0.5m/s*ki
0.5
~1.0m/s*k

i % -1.0m/sl«)u:
f = | 8 U umeei

4
@ G 1:4,000

5 0 30 60 90 120
-:-:m
FAEXRICEDCELIHERREASE (#H) R 1JHs 1139)



ﬂ &I BT
—— =KEERXERX

(7 A

%§ ] ) U | (R

O HA
M

0 A\ Q
: 1:4,000

& .

5 0 30 60 90 120
-:-:m

FREEICEDCELMBERRASE (M) R 1Hs 1139)



&

FREEICEDCELMBERRASE (M) R 1Hs 1139)

0

O@

f% )11 BT
RIKEERER

| kB

A
LI

i=IKEZE K E

-

1:4,000

0 30 60 90 120
N TN M




